

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

1084255

Form ACO-1 June 2009 Form Must Be Typed Form must be Signed All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License # 303	1 5		API No. 15
Name: Piqua Petro, Inc.			Spot Description:
Address 1: 1331 XYLAN RD			SE_NE_SE_SW Sec. 3 Twp. 24 S. R. 17 ▼ East West
Address 2:			940 Feet from North / South Line of Section
City: PIQUA	State: KS Zip:	66761 + 1667	2325 Feet from East / V West Line of Section
Contact Person: Greg Lair			Footages Calculated from Nearest Outside Section Corner:
Phone: (<u>620</u>) 468-2681			□ne □nw □se ☑sw
CONTRACTOR: License # 32	079		County: Woodson
l eis John F			Lease Name: Sovoboda Well #: 34-11
Wellsite Geologist: None			Field Name: Neosho Falls Leroy
Purchaser: Maclaskey			Producing Formation: Mississippi
Designate Type of Completion:	·		Elevation: Ground: 978 Kelly Bushing: 0
	Re-Entry	Workover	Total Depth: 1236 Plug Back Total Depth:
✓ oil wsw	SWD	□ slow	Amount of Surface Pipe Set and Cemented at: 21 Fee
Gas D&A	☐ SWD	☐ SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ✓ No
	☐ GSW	Temp. Abd.	If yes, show depth set: Fee
CM (Coal Bed Methane)			If Alternate II completion, cement circulated from:
Cathodic Other (Co	ore, Expl., etc.):		feet depth to: w/sx cmi
If Workover/Re-entry: Old Well	Info as follows:		Wi SA Citi
Operator:			
Well Name:			Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Original Comp. Date:	7		Chloride content: 0 ppm Fluid volume: 0 bbls
Deepening Re-pe	erf. Conv. to E	NHR Conv. to SWD	
	Conv. to C	GSW	Dewatering method used: Evaporated
Plug Back:	Plug	Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled	Permit #:		Operator Name:
Dual Completion	Permit #:		Lease Name: License #:
SWD	Permit #:		
☐ ENHR	Permit #:		Quarter Sec TwpS. R
☐ GSW	Permit #:		County: Permit #:
04/13/2012 04/16	6/2012	05/17/2012	
Spud Date or Date Recompletion Date	leached TD	Completion Date or Recompletion Date	

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY
Letter of Confidentiality Received
Date:
Confidential Release Date:
☐ Wireline Log Received
Geologist Report Received
UIC Distribution
ALT I I III Approved by: Deanna Garrisor Date: 06/13/2012

Side Two



Operator Name: Pig	ua Petro, Inc.		Lease Na	ame: _	Sovoboda		_Well #:34-	·11	
Sec. 3 Twp.24	s. R. <u>17</u>	✓ East	County:						
time tool open and clo	sed, flowing and shues if gas to surface to	nd base of formations pen ut-in pressures, whether s est, along with final chart(I well site report.	hut-in pressu	ire rea	ched static level,	hydrostatic press	sures, bottom h	ole temperature	, fluid
Drill Stem Tests Taken (Attach Additional S		☐ Yes ✓ No		L	og Formation	n (Top), Depth ar	d Datum	☐ Sample	!
Samples Sent to Geo	·	Yes No		Nam			Тор	Datum	
Cores Taken Electric Log Run Electric Log Submittee (If no, Submit Copy	d Electronically	Yes No Yes No Yes No		See A	ttachments				
List All E. Logs Run:					r				
		CASING	RÉCORD	✓ Ne	ew Used				
		Report all strings set-		_		on, etc.		T	
Purpose of String	Size Hole Drilled	Sizé Casing Set (In O.D.)	Weigh Lbs. / f		Setting Depth	Type of Cement	# Sacks Used	Type and Pero Additives	
Surface	12	7	20		21	Regular	10		
Longstring	5.625	2.875	6.5		1233	owc	135		
<u> </u>		ADDITIONAL	. CEMENTIN	G / SQL	JEEZE RECORD				
Purpose: —— Perforate	Depth Top Bottom	Type of Cement	# Sacks Used		Type and Percent Additives				
Protect Casing Plug Back TD	-								
Plug Off Zone	-								
		1011 BECORD B.11 B.			A-14 F	-t Obt- O			
Shots Per Foot		ION RECORD - Bridge Plug Footage of Each Interval Per				cture, Shot, Cemen mount and Kind of Ma			pth
1	1186.5 to 1195.5	w/ 13 Perfs				·			
		-							
TUBING RECORD:	Size:	Set At: 1082	Packer At:		Liner Run:	Yes✓ No	ı		
Date of First, Resumed	Production, SWD or EN	NHR. Producing Met	_		Gas Lift C	Mh - (5-11-1-)			
Estimated Production Per 24 Hours	Oil	Bbls. Gas	Mcf Pumping	Wat		Other <i>(Explain)</i>	Gas-Oil Ratio	Gravi	ity
	ON OF GAS:		METHOD OF (nminaled	PRODUCTION	ON INTERVAL:	
Vented Sold	Used on Lease	Open Hole		Duany (Submit :		mmingled mit ACO-4)	<u></u> :		

8 - 8

LEIS OIL SERVICES

111 East Mary • Yates Center, Kansas 66783 • (620) 625-3676

Operator License #: 30345	API #: 207-27833-00-00				
Operator: Piqua Petro, Inc.	Lease: Sovoboda				
Address: 1331 Xylan Rd Piqua, KS 66761	Well #: 34-11				
Phone: 620.433.0099	Spud Date: 4/13/12 Completed: 4/16/12				
Contractor License: 32079	Location: SE-NE-SE-SW of 3-24S-17E				
T.D.: 1236 T.D. of Pipe: 1233	940 Feet From South				
Surface Pipe Size: 7" Depth: 21'	2325 Feet From West				
Kind of Well: Oil	County: Woodson				

LOG

Thickness	Strata	From	To	Thickness	Strata	From	To
2	Soil	0	2	11	Shale ·	794	805
3	Gravel	2	5	1	Lime	805	807
4	Clay	5	9	34	Shale	807	841
31	Lime	9	40	1	Lime	841	842
111	Shale	40	151	10	Broken Sand	842	852
15	Lime	151	166	311	Shale	852	1163
15	Shale	166	181	1	Coal	1163	1164
67	Lime	181	248	9	Shale	1164	1173
63	Shale	248	311	13	Lime	1173	11/5
92	Lime	311	403	10	Oil Break	1186	1196
4	Black Shale	403	407	40	Lime	1196	
22	Lime	407	429	19	Duic	1130	1236
3	Shale	429	432			 	
26	Lime	432	458			-	
132	Shale	458	590				,
1	Lime	590	591				
28	Shale	591	619				
5	Lime	619	624				
18	Shale	624	642			ļI	
10	Lime	642	652				
67	Shale	652	719		T.O.		4336
1	Lime	719	720		T.D. of Pipe		1236
4	Shale	720	724		1.D. of Pipe		1233
11	Lime	724	735				
13	Shale	735	748				
4	Lime	748	752				
22	Shale	752	774				
20	Lime	774	794		Program v		

Leis Oil Services, LLC

1410 150th Rd Yates Center, KS 66783

Invoice

Number: 1001

Date:

May 14, 2012

Bill To:

Greg Lair Piqua Petro 1331 Xylan Rd Piqua, KS 66761

Ship To:

Greg Lair Piqua Petro 1331 Xylan Rd Piqua, KS 66761

PO Number	Terms	Project
		AND THE PARTY OF T

Date	Description	Hours	Rate	Amount
4-12-12	Drill pit	1.00	100.00	100.00
4-12-12	cement for surface	10.00	12.60	126.00
4-13-12	Drilled Sovoboda 33-11	1,233.00	6.25	7,706.25
4-13-12	Drill pit	1.00	100.00	100.00
4-13-12	cement for surface	(10.00)	12.60	126.00
4-16-12	Drilled Sovoboda 34-11	TO 1,236.00	6.25	7,725.00
4-17-12	Drill pit	1.00	100.00	100.00
4-17-12	cement for surface	8.00	12.60	100.80
4-18-12	drilled Stranghorner 2-12	1,253.00	6.25	7,831.25
4-19-12	Drill pit	1.00	100.00	100.00
4-20-12	cement for surface	10.00	12.60	126.00
4-20-12	Drilled Hammond E 6-12	1,116.00	6.25	6,975.00
4-23-12	Drill pit	1.00	100.00	100.00
4-24-12	cement for surface	8.00	12.60	100.80
4-24-12	Drilled Wingrave 59-12	1,073.00	6.25	6,706.25

0 - 30 days	31 - 60 days	61 - 90 days	> 90 days	Total
\$44,917.90	\$0.00	\$0.00	\$0.00	\$44,917.90





TICKET NUMBER	36439
LOCATION &	
FOREMANS	

PO Box 884, Chanute, KS 66720

FIELD TICKET & TREATMENT REPORT

the state of the s	or 800-467-8676			CEME	NT.			
DATE	CUSTOMER#		. NAME & NUM	BER	SECTION	TOWNSHIP	RANGE	COUNTY
4,17-12 USTOMER	4950	Soundel	a 3411		3	24	17E	Kugartean
USTOMER	O A. 1		•		TRUCK#	DRIVER	TRUCK#	DRIVER
MAILING ABOR	La Potrale	nr-v		1	485	Alann	TROOK#	Draver
1231	Y-1- 21				477	much		
CITY	XXION Rd	STATE	ZIP CODE		7.5	1000	1	
Piqua		KS	66761				<u> </u>	1
JOB TYPE LO		HOLE SIZE	1.5676	J HOLE DEPT	H //35	CASING SIZE &	WEIGHT	
CASING DEPTI		DRILL PIPE		TUBING	238		OTHER	
				WATER gol/		CEMENT LEFT I		·
	n 225 bbls			MAY BALL	1200th	RATE		
						Kcirculat	ion luff	noch
JOTes:	Pump 30	su# Gelf	wh xs	bble Eve	for space	er. Mix	125 5 65	OWC
118# 1	heno Seal an	tisk Sh	us down	1. WO	shour P	Amp Aline	s . STUSS	2 0/ws
Displace	1455 74	15 Abls J	ras wo	Ter_E	inal Pun	pine Pross	UM 700	# Buno
21 un 120	002 60	se will	אסק אל	Ga	ad Comon	RETURNS	To Sur	face
6 66	LS/Wry 7	ن <u>۵، ت</u>	Tablar	noleta	Bix dow	^		
<u> </u>			· · · · · · · · · · · · · · · · · · ·		•			
						· · · · · · · · · · · · · · · · · · ·		
	· · · · · · · · · · · · · · · · · · ·		Than,	K You				
10001111			,			***************************************	· · · · · · · · · · · · · · · · · · ·	.,
ACCOUNT CODE	QUANITY	or UNITS	DE	SCRIPTION o	1 SERVICES or PI	RODUCT	UNIT PRICE	TOTAL
5461	1		PUMP CHARG	E			1030.00	100000
5406	43		MILEAGE				4.00	180.00
1126	136 5K1	<u> </u>	Othic	Cemen			18.80	2538.00
11074	180			al 22			1.39	87.72
7.07		and the state of t	Z220038		<u> </u>		1 427	1000
1118 13	£00£		Gelfl	'h			121	63.00
<u> </u>		****		GMA:				
5407A	7.02			+-)	A. 150	_ _	1.34	423.31
240/#	7.02		Jan m	· lenge	bulk Tru	<u> </u>	7.54	783.31
***			20, -	- 2 H	per Plus		28.00	56.00
4402	1 2 -			op n une	261 12108		1 XX.00	26.00
,	 						 	
								
			******	Y Tour out the banks				
	* .	3						
		•						
				· · · · · · · · · · · · · · · · · · ·			Subtotal	4378.03
					_	7.3%	SALES TAX	200.36
r4n 5707	J:	MCC	l ander in 2. 12. 12. 12. 12. 12. 12. 1 . 1	त्रयपा	यो		ESTIMATED	1 1
	By MAH L	,,. —	•	•	, ,		TOTAL	4578.39]
AUTHORIZMON	OY MAH L	<i>en</i>		TITLE			DATE	

I acknowledge that the payment terms, unless specifically amended in writing on the front of the form or in the customer's account records, at our office, and conditions of service on the back of this form are in effect for services identified on this form